
EXERCICES MATHS CM2 – Les longueurs – Correction.    Toupty.com

Fiche n° 77

39 dam = 39000 cm

47 km = 470000 dm

78 km = 78000000 mm

49 km = 490000 dm

75 m = 750 dm

55 m = 550 dm

19 dam = 1900 dm

56 hm = 56000 dm

34 hm = 3400000 mm

10 m = 10000 mm

6800000 dm = 6800 hm

4000000 cm = 40 km

35000000 dm = 3500 km

28000000 m = 28000 km

240000 dm = 2400 dam

39000000 cm = 390 km

20000000 cm = 200 km

67000000 m = 67000 km

5800000 m = 58000 hm

3000000 m = 30000 hm

45 m  et 59 dm = 509 dm

85 dam  et 44 dm = 8544 dm

83 km  et 15 mm = 83000015 mm

85 hm  et 5 dm = 85005 dm

32 dam  et 93 dm = 3293 dm

77 hm  et 24 mm = 7700024 mm

99 hm  et 99 cm = 990099 cm

38 hm  et 18 cm = 380018 cm

81 hm  et 68 cm = 810068 cm

95 hm  et 64 cm = 950064 cm

Recopie et convertis dans l'unité :

Même exercice :

Recopie et convertis dans l'unité :
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